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 ناره 7سؤالات صفحه  ردیف
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71جاع                                                                                                                                                            

             گل نیلوفر در مرداب می روید تا به همه بگوید باید در سختی ها بهترین بود.                                                            
                                    باقری                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                            
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 ناره 7صفحه راهنمای تصحیح  ردیف
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